#17A17-ELECTRICAL SUPPLIES

ltem MM # DESCRIPTION
1 100627 |[BALLAST,FLUOR.,3-LAMP,T-8,120 V.
2 100643 |BALLAST KIT,HPS,250W,120-277V,550
3 100644 |BALLAST KIT,HPS,400W,120-277V,S51
4 100645 |BALLAST KIT,HPS,1000W,120-277V,552
5 100647 {BALLAST KIT,HPS,150W,120-277V,S55
6 100649 |BALLAST KIT,HPS,70 W,120-277V
7 100650 {BALLAST KIT,HPS,50W,120V,S68
8 100702 |[BLANK,STEEL,SNAP-IN,S50 APPLETON,1/2"
9 100703 |BLANK,STEEL,SNAP-IN,S75 APPLETON,3/4"
10 100704 |(BLANK,STEEL,SNAP-IN,S100 APPLETON,1"
11 100713 |BODY,FEMALE CONNECTOR,5269N BRYANT,3W,2P
12 100716 |BODY,FEM.CONNECTOR,5369 HUBBELL,3 WIRE
13 100725 |BOX,#A606CH,OIL TIGHT ENCL,6 X 6 X 4 IN.
14 100727 |BOX,PULL STEEL HINGE COVER,6 X 6 X 4 IN.,
15 100729 |[BOX,JIC,NEMA 4, 6X6X4IN.,SS COVER CLAMPS
16 100730 |BOX,JIC,NEMA 4, 6X6X4IN,CONT.HINGE COVER
17 100731 |BOX,JUNCTION,STL,TYPE SC,6X6X4IN,NO KOS
18 100734 |BOX,JUNCTION,STEEL,SCREW COVER,6X6X6 IN.
19 100735 |BOX,JUNCTION,STEEL,SCREW COVER,8X6X4 IN.
20 100738 |BOX,JUNC.,STEEL,TYPE SC,10X8X4IN,NEMA 1
21 100739 |BOX,0IL TIGHT ENCL,#A1008CH,10X8X4 IN.
22 100741 |BOX,JIC,NEMA 4,10X8X4IN,SS HNGE COV.CLMP
23 100743 |BOX,JUNC.,STEEL,TYPE SC,12X10X4IN,NEMA 1
24 100744 |BOX,JIC,NEMAA4,12X10X5IN,CONT.HINGE COVER
25 100751 |BOX,JIC,NEMAA4,14X12X6IN,CONT.HINGE COVER
26 100752 |BOX,OIL TIGHT ENCL,14X12X6IN,#A1412CH
27 100753 |BOX,JUNC.,STEEL,HINGE-OILTITE,16X14X6IN.
28 100764 [BOX,UNTHREADED,HANDY,4X2-1/8IN.,1/2IN.KO
29 100766 |BOX,UNTHREADED,OUTLET,0CTAGON,4X1-1/2IN.
30 100772 |BOX,UNTHREADED,OUTLET,APPLETON #4SJD-3/4
31 100774 [BOX,0OUTLET,OCTAGON,4X1-1/2IN.1/2-3/4 KO
32 100777 |BOX,UNTHREADED,OUTLET,APPLETON #4SJD-1
33 100778 |BOX,UNTH,QUTLET,4X1-1/2IN.1/2-3/4 IN.KO
34 100780 |BOX,UNTH,OUTLET,4X2-1/8IN.1/2-3/4 IN.KO
35 100781 |BOX,UNTHREADED,OUTLET,APPLETON #4SJD-SPL
36 100808 |UNILET,TH,3/4IN,FS-1-75L,1-GANG,SHALLOW
37 100813 |UNILET,TH,3/4IN,FSC-1-75L,1-GANG,SHALLOW
38 100824 |UNILET,TH,3/4IN,LB-75-M,FORM 35,M.I,CAD.
39 100831 |UNILET,TH,3/4IN,T-75-M,FORM 35,M.1,CAD.
40 100863 |UNILET,TH,2IN,LB-200-M,FORM 35,M.I,CAD.
41 100884 |COVER,OUTLET,APPLTN 8365,1-DUPLEX FLUSH
42 100886 |COVER,OUTLET,APPLTN 8371,2 DUPLEX FLUSH
43 100894 |COVER,OUTLET,APPLTN 8465,4"FLAT,BLANK
44 100905 |COVER,UNILET,APPLTN FSK-1BC,BLANK,C.M.I.




#17A17-ELECTRICAL SUPPLIES

Item MM # DESCRIPTION

45 100914 |[COVER,UNILET,APPLTN FSK-1VDR,DUPLEX,1-GA
46 100916 |[COVER,UNILET,APPLTN FSK-1VS,1-GANG,C.M.!
47 100927 |COVER,UNILET,APPLTN K-50,BLANK,1/2",STL

48 100928 |COVER,UNILET,APPLTN K-75,BLANK,3/4",STL

49 100938 [BRACKET,UNISTRUT,SPLICE FITTING,1-5/8"

50 100943 |CLAMP,PIPE,CONDUIT,1/2"APPLTN CL-50M

51 100944 |CLAMP,PIPE,CONDUIT,1/2"UNISTRUT P-1111EG
52 100945 |CLAMP,PIPE,CONDUIT,3/4"APPLTN CL-75M

53 100946 |CLAMP,PIPE,CONDUIT,3/4"UNISTRUT P1112EG
54 100947 |CLAMP,PIPE,CONDUIT,1"APPLTN CL-100M

b5 100948 |CLAMP,PIPE,CONDUIT,1"UNISTRUT P1113EG

56 100950 |CLAMP,PIPE,CONDUIT,1-1/4"UNISTRUTP1114EG
57 100951 |CLAMP,PIPE,CONDUIT,1-1/2"APPLTN CL-150M
58 100952 |CLAMP,PIPE,CONDUIT,1-1/2"UNISTRUTP1115EG
59 100953 |CLAMP,PIPE,CONDUIT,2"APPLTN CL-200M

60 100954 |CLAMP,PIPE,CONDUIT,2"UNISTRUT P1117EG

61 100957 |CLAMP,PIPE,CONDUIT,3"UNISTRUT P1119EG

62 100960 |CLAMP,PIPE,CONDUIT,4"UNISTRUT P-1121

63 100961 |BACK,CLAMP,1/2"APPLTN CLB-50M,M.1.

64 100962 |BACK,CLAMP,3/4"APPLTN CLB-75M,M.1.

65 100963 |BACK,CLAMP,1"APPLTN CLB-100M,M.I.

66 100964 |BACK,CLAMP,1-1/4"APPLTN CLB-125M,M.I.

67 100965 |BACK,CLAMP,1-1/2"APPLTN CLB-150M,M.I.

68 100975 |BUSHING,1/2"APPLTN BU50 FIBER BLACK

69 100978 |BUSHING,3/4"APPLTN BBU75 FIBER RED

70 100981 |BUSHING,1"APPLTN BBU100 FIBER BLACK

71 100984 |BUSHING,1-1/4"APPLTN BBU125 FIBER RED

72 100986 |BUSHING,1-1/2"APPLTN BBU150 FIBER BLACK
73 100988 |BUSHING,2"APPLTN BBU200 FIBER BLACK

74 100992 |BUSHING,3"APPLTN BBU300 FIBER BLACK

75 100995 |[BUSHING,REDUCER,3/4"X1/2"APPLTN RB75-50
76 100996 |BUSHING,REDUCER,1"X1/2"APPLTN RB100-50
T 100997 |BUSHING,REDUCER,1"X3/4"APPLTN RB100-75
78 100999 |BUSHING,REDUCER,1-1/4X3/4"APLTN RB125-75
79 101000 |BUSHING,REDUCER,1-1/4X1"APLTN RB125-100
80 101003 |BUSHING,REDUCER,1-1/2X1"APLTN RB150-100
81 101068 |CAP,MALE PLUG,2-POLE,3-WIRE,HUBBLE#5266C
82 101069 |CAP,MALE PLUG,3 WIRE,HUBBELL#5965-VY,NYL
83 101073 |CAP,MALE PLUG,2-POLE,3-WIRE,HUBBEL#5366C
84 101078 |CAP,MALE PLUG,2-WIRE,POLARIZED,#5866VY
85 101096 |BREAKER,CIRCUIT,GROUND FAULT,20A,1-POLE
86 101292 |CLEANER, CONTACT, DRY,CRC/16 OZ.

87 101303 |CLIP,ALLIGATOR,HIPPO-CLIP,BLACK,200A

88 101304 |CLIP,ALLIGATOR,HIPPO-CLIP,RED,200A




#17A17-ELECTRICAL SUPPLIES

ltem MM # DESCRIPTION

89 101659 |CONDUIT,RIGID,GALV,1/2 IN. X 10 FT.

90 101660 |CONDUIT,RIGID,GALV,3/4 IN. X 10 FT.

91 101661 |CONDUIT,RIGID,GALV,1IN. X 10 FT.

92 101662 |CONDUIT,RIGID,GALV,1-1/4 IN. X 10 FT.

93 101663 [CONDUIT,RIGID,GALV,1-1/2 IN. X 10 FT.

94 101664 |CONDUIT,RIGID,GALV,2 IN. X 10 FT.

95 101665 |[CONDUIT,RIGID,GALV,2-1/2 IN. X 10 FT.

96 101669 |[CONDUIT,FLEX,GALV,1/2 IN.,"SEALTITE"

97 101670 [CONDUIT,FLEX,ALUM,1/2 IN.,REDUCED WALL
98 101671 |CONDUIT,FLEX,GALV,3/4 IN.,"SEALTITE"

99 101672 |CONDUIT,FLEX,GALV,1 IN.,"SEALTITE"

100 101673 |CONDUIT,FLEX,GALV,1-1/4 IN.,"SEALTITE"

101 101677 |CONDUIT, THINWALL,EMT STL,1/2 IN. X 10 FT
102 101678 [CONDUIT, THINWALL,EMT STL,3/4 IN. X 10 FT
103 101687 [CONNECTOR,CONDUIT,FLEX,1/2",STRGHT,SCREW
104 101689 [CONNECTOR,CONDUIT,927050,1/2",2-PC,APLTN
105 101691 |CONNECTOR,CONDUIT,ST-50,1/2",STL

106 101692 |CONNECTOR,CONDUIT,STB-50,1/2",STL

107 101693 |CONNECTOR,CONDUIT,CG-3150,1/2",STT,APLTN
108 101694 |CONNECTOR,CONDUIT,CG-3750,1/2",STT,APLTN
109 101695 |CONNECTOR,CONDUIT,CG-5050,1/2",STT,APLTN
110 101696 |CONNECTOR,CONDUIT,ST-4550,1/2",45 DEG
111 101698 |CONNECTOR,CONDUIT,ST-9050,1/2",90 DEG
112 101702 |CONNECTOR,CONDUIT,NTC-50,1/2",NO THREAD
13 101703 |CONNECTOR,CONDUIT,ST-75,3/4"STL

114 101708 |[CONNECTOR,CONDUIT,ST-9075,3/4",90 DEG
115 101715 |CONNECTOR,CONDUIT,96T075,3/4",COMPRESS
116 101716 |CONNECTOR,CONDUIT,ST-100,1",STL

117 101745 |CONNECTOR,CONDUIT,96T050,1/2",COMPRESS
118 101884 |COUPLING,CONDUIT,3PC,M!,3/4",EC-75,APLTN
119 101892 |COUPLING,CONDUIT,COMPRESS,3/4",95T075
120 101893 [COUPLING,CONDUIT,3/4",GALV,HOT DIPPED
121 101900 [COUPLING,TW,COMPRESS,1/2",95T050 APPLTN
122 102012 |[SERVICE"SHOP"LITE,MCGILL#50505RG

123 102013 |[SERVICE"SHOP"LITE,MCGILL#5000-SRG

124 102025 |FUSE,AGC,1/2A,250V,GLASS,FAST ACTING

125 102027 {FUSE,FNM,1/2A,250V,ONE TIME

126 102034 |FUSE,FRN-R,6/10A,250V,DUAL ELEMENT

127 102040 |FUSE,AGC,1AMP,250V,ONE TIME

128 102041 |FUSE,NON,1 AMP,250V,0ONE TIME

129 102042 |FUSE,FNM,1 AMP,250V,ONE TIME

130 102043 |FUSE,BAF,1 AMP,250V,ONE TIME

131 102044 |307FUSE,FRN-R,1 AMP,250V,ONE TIME

132 102046 |FUSE,FNQ-R,1A,REJECTION,TIME DELAY,CC




#17A17-ELECTRICAL SUPPLIES

ltem MM # DESCRIPTION
133 102050 |FUSE,KTK-R-1,1A,600V,CLASS CC,BUSSMAN
134 102056 |FUSE,KTK-R-1,1-1/2A,600V,BUSS,FAST ACTIN
135 102059 |FUSE,FNQ-R,1.6A,REJECTION,TIME DELAY,CC
136 102063 |FUSE,AGC,2A,250V,GLASS,FAST ACTING
137 102064 |FUSE,AGX,2A,250V
138 102066 |FUSE,FNM,2A,250V,ONE TIME
139 102067 |FUSE,KLKR,2A,600V,CLASS CC,FAST ACTING
140 102072 |FUSE,FNQ-R,2A,REJECTION,TIME DELAY,CC
141 102076 |FUSE,FRN-R,2A,250V,ONE TIME
142 102080 |[FUSE,FNM,2-1/2A,250V,DUAL ELEMENT,BUSS
143 102082 |FUSE,KTK-R,2-1/2A,600V,ONE TIME,BUSSMAN
144 102085 |[FUSE,BAF,3A,250V,LAMINATED TUBE,13/32
145 102087 |FUSE,FNQ-R,3A,REJECTION,TIME DELAY,CC
146 102089 |FUSE,FRN-R,3A,250V,CARTRIDGE,ONE TIME
147 102093 |FUSE,KTK-R,3A,BUSS,ONE TIME,13/32"
148 102094 |FUSE,FNQ-R,3A,600V,MDGT,TIME DELAY,200KA
149 102109 |FUSE,FNM,5A,250V,DUAL,FIBRE TUBE,13/32
150 102112 |[FUSE,GLR,5A,300V,GLASS,BUSS,ONE TIME
151 102113 |FUSE,FNQ-R,5A,REJECTION, TIME DELAY,CC
152 102116 |FUSE,KTK-R,5A,600V,0NE TIME,13/32"
153 102123 |FUSE,NON-R,6A,250V,CARTRIDGE,ONE TIME
154 102127 |FUSE,KTK-R,6A,600V,ONE TIME
155 102137 |FUSE,FNQ-R,10A,REJECTION,TIME DELAY,CC
156 102142 |FUSE,FLSR,10 AMP,600 V,DUAL,TIME DELAY
157 102143 |FUSE,KTK-R,10A,600V,LIMITRON BUSS,13/32"
158 102144 |FUSE,FRN-R,10A,250V,CRTRDG,DUAL,ONE TIME
159 102145 |FUSE,FNM,10A,250V,BUSS,FIBRE,13/32"
160 102152 |FUSE,FRN-R,15A,250V,CRTRDG,DUAL,1-TIME
161 102156 |FUSE,ABC,15A,250V,CERAMIC,TIME LAG,1/4"
162 102162 |FUSE,FLSR,15A,600V,DUAL,TIME DELAY,RK-5
163 102167 |FUSE,FRN-R,20A,250V,CRTRDG,DUAL,1-TIME
164 102169 |FUSE,AGC,20A,32V,GLASS,FAST ACTINT,1/4"
165 102170 |FUSE,FLSR,20A,600V,DUAL,TIME DELAY,RK-5
166 102176 |FUSE,AGC,25A,32V,GLASS,FAST ACTING,1/4"
167 102177 |FUSE,FRN-R,25A,250V,CRTRDG,DUAL,1-TIME
168 102181 |FUSE,FRN-R,30A,250V,CRTRDG,DUAL,1-TIME
169 102188 |FUSE,FLSR,30A,600V,DUAL,TM DELAY,RK-5
170 102191 |FUSE,FLNR,35A,250V,DUAL,TIME DELAY,RK-5
171 102196 |FUSE,FRN-R,40A,250V,CRTRDG,DUAL,TM DELAY
172 102200 |FUSE,FLSR,40A,600V,DUAL,TM DELAY,RK-5
173 102206 |FUSE,FLNR,60A,250V,DUAL,TIME DELAY,RK-5
174 102277 |GASKET,UNILET,1/2",GK50-N,NPRN,FORM 35
175 102279 |GASKET,UNILET,3/4",GK75-N,NPRN,FORM 35
176 102280 |GASKET,UNILET,1",GK100-N,NPRN,FORM 35




#17A17-ELECTRICAL SUPPLIES

Item MM # DESCRIPTION

177 102310 |[HANGER,CONDUIT,0-B MNRLLC,1/2",W/NT&BLT
178 102311 |HANGER,CONDUIT,1-B MNRLLC,3/4",W/NT&BLT
179 102312 |HANGER,CONDUIT,2-B MNRLLC,1",W/NT&BLT
180 102313 |HANGER,CONDUIT,3-B MNRLLC,1-1/4"W/NT&BLT
181 102314 |HANGER,CONDUIT,4-B MNRLLC,1-1/2"W/NT&BLT
182 102315 |HANGER,CONDUIT,5-B MNRLLC,2",W/NT&BLT
183 102809 |ADAPTER,SOCKET,MOGUL TO MEDIUM BASE,600W
184 102813 |SOCKET,LAMP,FLUORESCENT,LOW PROFILE BASE
185 102815 |SOCKET,LAMP,FLUORESCENT,LONG PROFILE

186 102840 [HUB,CONDUIT,ZINC,LIQUID TIGHT,3/4",ST-2

187 102841 |HUB,CONDUIT,ZINC,LIQUID TIGHT,1",ST-3

188 103134 |PHOTOCELL,105-277VAC,60HZ,FISHER #N77908B
189 103235 |MARKER,WIRE,PORTAPACK,BRADY #PWM-PK-1
190 103237 |MARKER,WIRE,PORTAPACK,BRADY #PWM-PK-3
191 103238 |MARKER,WIRE,PORTAPACK,BRADY #PWM-PK-12
192 103264 |NIPPLE,CONDUIT,1/2",APPLETON #CN-50

193 103266 |NIPPLE,CONDUIT,3/4" APPLETON #CN-75

194 103280 |NUT,UNISTRUT,1/4",WITH SPRING,#P1006

195 103281 [NUT,UNISTRUT,3/8",WITH SPRING,P1008

196 103282 |NUT,UNISTRUT,1/2",WITH SPRING,#P1010

197 103283 [LOCKNUT,CONDUIT,1/2",STEEL,APPLETON BL50
198 103285 |LOCKNUT,CONDUIT,3/4" STEEL,APPLETON BL75
199 103286 [LOCKNUT,CONDUIT,3/4",SEALING,MWC #SL-2
200 103287 [LOCKNUT,CONDUIT,1",STEEL,APPLETON #BL100
201 103288 |LOCKNUT,CONDUIT,1",SEALING,MWC #SL-3

202 103289 [LOCKNUT,CONDUIT,1-1/4",STEEL,APPLETON

203 103322 [POWER STRIP,SURGE PROTECTOR,7 OUTLET

204 103360 |[PLUG,"KNOCKOUT",FOR UNUSED OPENINGS

205 103402 |RECEPTACLE,DUPLEX,20 AMP.,125VAC/125VDC
206 103422 |RECEPTACLE,GFI,DUPLEX,20A,2-POLE,3-WIRE
207 103618 |SOCKET,RELAY PART,8-PIN OCTAL,P&B#27E122
208 103633 |STARTER,FLUORESCENT LAMP,FS-5,4-6-8W.

209 103642 |STARTER,MOTOR,MANUAL,OPEN,1 HP,1 POLE
210 103643 |STARTER,MOTOR,MANUAL,TYPE 1,1 HP,1 POLE
211 103690 |[SEALANT,DUXSEAL,1 LB.BAG,BLACKBURN #DX1
212 103693 |SEALANT,ELECTRICAL,RED GLYPTAL,SPRAY,3-M
213 103784 |SWITCH,TOGGLE,3-WAY,15 AMP.,120/277VAC
214 103790 [SWITCH,TOGGLE,20 AMP.,SIDE&BACK WIRED
215 103793 |SWITCH,TOGGLE,3-WAY,20 AMP.,120/277V.

216 103892 |[TAPE,ELECTRICAL,3M SUPER 33+,BLACK,VINYL
217 103894 |TAPE,ELECTRICAL,3M SUPER 88,BLACK,VINYL
218 103895 |TAPE,ELECTRICAL,130 C SCOTCH,3/4"X30'

219 103903 |TAPE,ELECTRICAL,SLIPKNOT FRICTION #8

220 103905 |PUTTY,INSULATION,DUCT SEALING,SCOTCHFIL




#17A17-ELECTRICAL SUPPLIES

Item MM # DESCRIPTION

221 103909 |TAPE,ELECTRICAL,SCOTCH#35,BLUE,3/4"X66'

222 103910 |TAPE,ELECTRICAL,SCOTCH#35,BROWN,3/4"X66'
223 103911 |TAPE,ELECTRICAL,SCOTCH#35,GREEN,3/4"X66'
224 103912 |TAPE,ELECTRICAL,SCOTCH#35,GRAY,3/4"X66'
225 103913 |TAPE,ELECTRICAL,SCOTCH#35,0RANGE,3/4"X66
226 103914 |TAPE,ELECTRICAL,SCOTCH#35,RED,3/4"X66'

227 103915 |TAPE,ELECTRICAL,SCOTCH#35,WHITE,3/4"X66'
228 103916 |TAPE,ELECTRICAL,SCOTCH#35,YELLOW,3/4"X66
229 103917 |TAPE,ELECTRICAL,SCOTCH#35,VIOLET,3/4"X66
230 103941 |LUG,CABLE,COPPER,SPLIT BOLT,KS-34,500MCM
231 103945 |LUG,CABLE,COPPER,BURNDY #KS-15,8SOL-85TR
232 103946 |LUG,CABLE,COPPER,BURNDY #KS-17,6SOL-7STR
233 103947 |LUG,CABLE,COPPER,BURNDY #KS-20,4-8 STR.

234 103948 |LUG,CABLE,COPPER,BURNDY #KS-22,2SOL-35TR
235 103949 |LUG,CABLE,COPPER,BURNDY #KS-23,1SOL-2STR
236 103951 |LUG,CABLE,COPPER,BURNDY #KS-25

237 103952 |[LUG,CABLE,COPPER,BURNDY #KS-26

238 103954 |LUG,ONE-HOLE,BRASS,BURNDY #KPA28

239 103955 [LUG,CABLE,COPPER,BURNDY #KS-29

240 103959 |LUG,ONE-HOLE,COPPER,BURNDY #YAGC-L,HYLUG
241 103960 |LUG,ONE-HOLE,COPPER,BURNDY #YA-2CL,HYLUG
242 103961 |LUG,ONE-HOLE,COPPER,BURNDY #YA-4CL,HYLUG
243 103963 |LUG,ONE-HOLE,COPPER,BURNDY#YA4C-L3,HYLUG
244 103967 |LUG,ONE-HOLE,COPPER,BURNDY#YA2C-L4,HYLUG
245 103970 |LUG,COPPER,BURNDY #YAV8C-L11-4-163-G6

246 103978 |[LUG,ONE-HOLE,COPPER,BURNDY #KPA-4C

247 103980 |[LUG,ONE-HOLE,BRONZE,T&B #31005

248 103981 [LUG,ONE-HOLE,BRONZE,T&B #31007

249 103982 |[LUG,ONE-HOLE,BRONZE,MECHANICAL,2/0 CABLE
250 103991 |LUG,COPPER,16-14 WIRE,BURNDY #SP-14

251 103992 |CONNECTOR,STAKON,VINYL,16-14 WIRE,FEMALE
252 103993 |CONNECTOR,STAKON,VINYL,#16-14 WIRE,MALE
253 103994 |TERMINAL,SLIDE,FEMALE,1/4",#10 WIRE

254 103996 |CONNECTOR,SOLDERLESS,VINYL,LOCKING FORK
255 103999 |CONNECTOR,STAKON,#16-10 WIRE,#10 BOLT
256 104000 |CONNECTOR,STAKON,#12-10 WIRE,#10 BOLT
257 104001 |CONNECTOR,STAKON,#16-10 WIRE,1/4"BOLT
258 104002 |CONNECTOR,STAKON,#16-10 WIRE,1/4"BOLT
259 104004 |CONNECTOR,STAKON,#8-10 WIRE,5/16"BOLT
260 104005 |CONNECTOR,STAKON,#12-10 WIRE,#10 BOLT
261 104006 |CONNECTOR,RING TONGUE,#12-10 WIRE

262 104007 |CONNECTOR,RING TONGUE,#12-10 WIRE

263 104008 |CONNECTOR,STAKON,#9-7 WIRE,5/16"BOLT

264 104009 |CONNECTOR,STAKON,#6-5 WIRE,1/4" BOLT




#17A17-ELECTRICAL SUPPLIES

ltem MM # DESCRIPTION

265 104013 |CONNECTOR,STAKON,2-WAY,T&B #2RC-10X

266 104014 |CONNECTOR,STAKON,2-WAY,#12-10 WIRE,BUTT
267 104015 |CONNECTOR,STAKON,2-WAY,T&B #2RB-14X

268 104016 |CONNECTOR,STAKON,2-WAY,#22-18 WIRE

269 104017 |CONNECTOR,STAKON,#16-14 WIRE,T&B #2RB-14
270 104018 |CONNECTOR,STAKON,#22-18 WIRE,#6 BOLT

271 104024 |CONNECTOR,STAKON,#20-14 WIRE,#6 BOLT

272 104025 |CONNECTOR,STAKON,SOLDERLESS,SPADE TONGUE
273 104026 |CONNECTOR,STAKON,#20-14 WIRE,#8 BOLT

274 104027 |CONNECTOR,STAKON,#20-16 WIRE,#8 BOLT

275 104028 |CONNECTOR,STAKON,SOLDERLESS,FORK TONGUE
276 104029 |CONNECTOR,STAKON,#20-14 WIRE,#10 BOLT
277 104030 |[CONNECTOR,STAKON,SOLDERLESS,FORK TONGUE
278 104031 |CONNECTOR,STAKON,#20-14 WIRE,1/4"BOLT
279 104032 |CONNECTOR,STAKON,#12-10 WIRE,#6 BOLT

280 104033 |CONNECTOR,STAKON,#10-12 WIRE#6 BOLT

281 104034 [CONNECTOR,STAKON,#16-10 WIRE,#8 BOLT

282 104035 [CONNECTOR,STAKON,#16-10 WIRE,#8 BOLT

283 104037 |[CONNECTOR,#12-10 WIRE,SELF INSULATED

284 104038 |[CONNECTOR,#12-10 WIRE,5/16"BOLT,RING

285 104039 |[CONNECTOR,FORK TONGUE,STA-KON #RC10-10F
286 104040 |[CONNECTOR,STAKON,90 DEG.FLAG,20 AWG.WIRE
287 104041 |CONNECTOR,STAKON,#12-10 AWG.WIRE,90 DEG.
288 104042 |CONNECTOR,STAKON,#22-18 WIRE,#6 BOLT

289 104043 |CONNECTOR,STAKON,VINYL,FORK,T&B #RA-1167
290 104044 |CONNECTOR,STAKON,#22-18 WIRE,#6 BOLT

291 104046 |CONNECTOR,STAKON,#22-18 WIRE,#10 BOLT
292 104048 |[CONNECTOR,STAKON,#22-18 WIRE,#10 BOLT
293 104053 |CONNECTOR,STAKON,#12-10 WIRE,#6 BOLT

294 104054 |CONNECTOR,STAKON,#12-10 WIRE,5/16"BOLT
295 104055 |CONNECTOR,STAKON,#12-10 WIRE,#8 BOLT

296 104056 |CONNECTOR,STAKON,#12-10 WIRE,#10 BOLT
297 104057 |CONNECTOR,STAKON,NYLON,FORK,#12-10 WIRE
298 104058 |CONNECTOR,STAKON,NYLON,RING,#12-10 WIRE
299 104065 |CONNECTOR,STAKON,NYLON,RING,#16-14 WIRE
300 104066 |CONNECTOR,STAKON,NYLON,FORK,#16-14 WIRE
301 104067 |CONNECTOR,STAKON,NYLON,RING,#16-14 WIRE
302 104079 |LUG,ONE-HOLE,COPPER,SOLDERLESS,#1,T&B

303 104080 |LUG,ONE-HOLE,COPPER,SOLDERLESS,#6,T&B

304 104081 |LUG,ONE-HOLE,COPPER,SOLDERLESS,#2,T&B

305 104082 |LUG,ONE-HOLE,COPPER,SOLDERLESS,3/0,T&B
306 104083 |LUG,ONE-HOLE,COPPER,SOLDERLESS,4/0,T&B
307 104084 |LUG,ONE-HOLE,COPPER,SOLDERLESS,#4,T&B

308 104085 |LUG,ONE-HOLE,COPPER,TYPE YA,2/0 STR.




#17A17-ELECTRICAL SUPPLIES

Item MM # DESCRIPTION

309 104104 |CONNECTOR,WIRE/CABLE,2-WAY,T&B #54507
310 104139 |WIRE TIE,SELF-LOCKING,NYLON, 3.6" LONG

311 104140 |WIRE TIE,SELF-LOCKING,NYLON, 5.5" LONG

312 104141 |CABLE TIE,SELF-LOCKING,NYLON, 7.3" LONG
313 104142 |CABLE TIE,SELF-LOCKING,NYLON, 14.9" LONG
314 104143 |CABLE TIE,SELF-LOCKING,PANDUIT#PKT5EH-QO
315 104144 |PAD,MOUNTING,ADHESIVE BACK,F/STD TY-RAP
316 104145 CHANNEL,UNISTRUT,PlOOOGR,lZGA,1-5/8"X10'
317 104146 CHANNEL,UNISTRUT,PlOOOTGR,SLOTTED,l—S/B"
318 104147 |CHANNEL,UNISTRUT,12 GA.,1-5/8"X7/8"X10'
319 104148 CHANNEL,UNISTRUT,SLOTTED,1—5/8"X7/8"X10'
320 104153 [FITTING,ANGLE,90 DEG.,UNISTRUT,2"X1-7/8"
321 104154 BRACKET,UNISTRUT,TEE,4HOLE,5—3/8”X3~1/2“
322 104155 FITTING,UNISTRUT,L-SHAPE,S-HOLE,3—1/2"

323 104156 FITTING,UNISTRUT,FLAT,Z-HOLE,3-1/2"

324 104157 FlTTlNG,UNISTRUT,FLAT,3~HOLE,5-3/8"

325 104158 FITI'ING,UNISTRUT,L-SHAPE,4-1/8"X 3-1/2"

326 104159 |FITTING,UNISTRUT,S0 DEG.,4-1/8"X 1-7/16"
327 104160 |FITTING,UNISTRUT,90 DEG.,3-1/2"X 2-1/4"

328 104161 BRACKET,UNISTRUT,KNEE,45DEG,12X1—5/8X1/4
329 104162 |BRACKET,UNISTRUT,POST BASE,4HOLE,5X5X1/4
330 104163 |WASHER,REDUCING,CUPPED STEEL,3/4"TO 1/2"
331 104165 |WASHER,REDUCING,CUPPED STEEL,1"TO 3/4"
332 104179 |NUT,WIRE,SCREW-ON,22-16 AWG.,IDEAL #71B
333 104180 |NUT,WIRE,SCREW-ON,22-14 AWG.,IDEAL #72B
334 104181 |NUT,WIRE,SCREW-ON,22-14 AWG.,|DEAL #73B
335 104182 |NUT,WIRE,SCREW-ON,18-12 AWG.,IDEAL #748B
336 104183 |NUT,WIRE,SCREW-ON,18-10 AWG.,IDEAL #76B
337 104184 |NUT,SQUARE WIRE,SPRING,BLUE,IDEAL #454
338 104296 |COMPQUND,WIRE PULL LUBE II,IDEAL #31-358
339 114706 |BALLAST KIT,MET HAL,175W,120-277V,MED
340 114715 |BALLAST KIT,MET HAL,250W,120-277V,MOG
341 114764 |FUSE,FNQ-R,30A,REJECTION,TIME DELAY,CC
342 114765 |FUSE,FNQ-R,15A,REJECTION,TIME DELAY,CC
343 114975 |CONTACTOR,MAGNETIC,40 AMP.,24V.,3 POLE
344 115166 |EMITTER,H2S PROTECTIVE,CORTEC #VPCI-111
345 115168 SPRAY,INHIBIT/GALVANIC,CORTEC #VPCI-248
346 115169 |ABSORBER,H2S,CORTEC CORRSORBER

347 115880 |CONNECTOR,STAKON,#RB14-10F,#10 BOLT
348 116184 |FUSE,GBB,12A,250V,VERY FAST ACTING

349 116964 |TESTER,VOLTAGE,FLUKE-T+PRO

350 116974 |BALLAST,FLUOR,1-2 LAMP,T8,120-277V




#17B17-WIRE & CABLE

Item

MM #

DESCRIPTION

[EE

101649

CABLE,THHN,1/0 AWG,1 COND,19 STR,BLACK

101650

CABLE,THHN,2/0 AWG,1 COND,19 STR,BLACK

101651

CABLE,XHHW,3/0 AWG,1 COND,19 STR,BLACK

101652

CABLE,THHN,4/0 AWG,1 COND,19 STR,BLACK

101653

CABLE,WELDING,2 AWG,1 COND,STR,BLACK

101654

CABLE,THHN,2 AWG,1 COND, 19 STR,BLACK

101655

CABLE,WELDING,4 AWG,1 COND,1050 STR,CPR

101656

CABLE, THHN,250 MCM,1 COND,37 STR,BLACK

ClojiNiO|n|bhjwiN

104196

CABLE,SHIELDED,20AWG,2PR,4COND, #9402

[EEY
o

104204

WIRE, TYPE TFF,18 AWG,16 STR,1 COND,RED

-
=

104208

WIRE,TYPE SO,16 AWG,16/3 SOW,3 COND.

=
N

104210

WIRE, TYPE SJO,16 AWG,STRD,3 COND,BLACK

-
w

104215

CABLE,SHIELDED,16 AWG,3 COND,BELDEN#8618

=
H

104216

CABLE,SHIELDED,16 AWG,2 COND,BELDEN#8719

—-
(62}

104220

WIRE, TYPE SO,14 AWG,14 STR,4 CONDUCTOR

-
(*2}

104221

WIRE,TYPE THHN,14 AWG,19 STR,1 COND,BLK

=
~

104225

WIRE, TYPE SJO,14 AWG,STRD,3 COND,BLACK

=
o]

104226

WIRE,TYPE SO,14 AWG,14/3 SOW,3COND,BLACK

[N
N

104228

WIRE, TYPE THHN, 14 AWG,19 STR,1 COND,BLUE

N
o

104229

WIRE, TYPE THHN,14 AWG,19 STR,1COND,BROWN

N
[N

104230

WIRE, TYPE THHN,14 AWG,19 STR,1COND,GREEN

N
N

104232

WIRE, TYPE THHN,14 AWG,19STR,1COND,ORANGE

N
w

104233

WIRE, TYPE THHN, 14 AWG,19STR,1COND,PURPLE

N
»

104234

WIRE, TYPE THHN,14 AWG,19 STR,1 COND,RED

N
(94)

104236

WIRE, TYPE THHN,14 AWG,19 STR,1COND,WHITE

N
D

104237

WIRE,TYPE THHN,14 AWG,19STR,1COND,YELLOW

N
~!

104239

WIRE, TYPE THHN, 14 AWG,19 STR,1 COND,PINK

N
oo

104240

WIRE,TYPE SO,12 AWG,4 COND,600V,BLACK

N
o

104241

WIRE, TYPE THHN,12 AWG,19 STR,1 COND,BLK

w
o

104243

WIRE, TYPE SO,12 AWG,STRD,3 COND,BLACK

w
oty

104246

WIRE, TYPE THHN,12 AWG,19 STR,1 COND,BLUE

w
N

104247

WIRE, TYPE THHN, 12 AWG,19 STR,1COND,BROWN

w
w

104248

WIRE,TYPE THHN,12 AWG,19 STR,1COND,GREEN

w
H

104249

WIRE,TYPE THHN,12 AWG,19 STR,1 COND,GREY

w
v

104251

WIRE,TYPE THHN,12 AWG,19STR,1COND,ORANGE

w
()]

104252

WIRE, TYPE THHN,12 AWG,19STR,1COND,PURPLE

w
~

104253

WIRE, TYPE THHN,12 AWG,19 STR,1 COND,RED

(O8]
(0]

104254

WIRE,TYPE THHN,12 AWG,19 STR,1COND,WHITE

w
s}

104255

WIRE,TYPE THHN,12 AWG,19STR,1COND,YELLOW

S
(@]

104256

WIRE,HOOK-UP,16 AWG,26X30 STRAND,BLACK

S
=

104262

WIRE,HOOK-UP,16 AWG,26X30 STRAND,RED

D
N

104265

WIRE, TYPE S0,10 AWG,4 COND,600 V,BLACK

H
w

104266

WIRE,TYPE THHN,10 AWG,19 STR,1 COND,BLK

N
N

104268

WIRE, TYPE SO,10 AWG,49 STR,3 COND,BLACK




#17B17-WIRE & CABLE

Item

MM #

DESCRIPTION

45

104269

WIRE, TYPE THHN,10 AWG,19 STR,1 COND,BLUE

46

104270

WIRE,TYPE THHN,10 AWG,19 STR,1COND,BROWN

47

104271

WIRE, TYPE THHN,10 AWG,19 STR,1COND,GREEN

48

104274

WIRE, TYPE THHN,10 AWG,19 STR,1 COND,RED

49

104276

WIRE,TYPE THHN,10 AWG,19 STR,1COND,WHITE

50

104277

WIRE, TYPE THHN,10 AWG,19STR,1COND,YELLOW

51

104279

WIRE,TYPE THHN,8 AWG,19 STR,1 COND,BLACK

52

104281

WIRE,TYPE THHN,8 AWG,19 STR,1 COND,GREEN

53

104283

WIRE, TYPE THHN,8 AWG,19 STR,1 COND,WHITE

54

104284

WIRE, TYPE SO,8 AWG,STRD,4 COND,NEOPRENE

55

104287

WIRE, TYPE THHN,6 AWG,19 STR,1 COND,BLACK

56

104288

WIRE, TYPE THHN,6 AWG,19 STR,1 COND,WHITE

57

104290

WIRE,TYPE THHN,4 AWG,19 STR,1 COND,BLACK

58

114548

CABLE,DRAIN,SHIELDED,22 AWG.,300V,COPPER

59

115324

WIRE,TYPE THHN, 10 AWG,19 STR,1 COND,ORNG

60

116264

CABLE,TYPE XHHW,#1/0 KCMIL,600V,STRANDED




